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Q1. Choose the correct answer. 1X10=10 Ly e Sz L i1 AUy
1. x = 5 represents: e b/ 6x=5 .1
s L -y (D) wéi# L7 X (C) y-axis .+ -y (B) x-axis .# -X (A)
line || to y— axis line || to x— axis
2. Slope of the line y = 5x + 3 is: SRS SN8 y=5x+3L5 .2
-5 (D) 5 (C) -3 (B) 3 (A)
3. The y-intercepts of y= -2x - 1 is: < UGyEy=-2x-1 .3
1 (D) -1 (C) 2 (B) -2 (A)
4. The graph of yy = x3, cut the x-axis at: P N T X-_1.¥ = x° 4
x=2 (D) x=-1 (C) x=1 (B) x=0 (A)
9. The graph of 3%, cuts the x-axis at: :q_t')’};l.b'._.i!f ¥3%X .5
Aline 515 (D) Both (a) and (b) U#s2— 513 (C) Decay L&s1 (B) Growth 151 (A)
6. The graph of y=- x2 + 5 opens: :f_l',lf._ilf b’y = — X2 +5 .6
Right side — #/1> (D) Left side <32/ 1(C) Downward — S £ (B) Upward 5 2§ 4 (A)
7. The graph of y= x2 —Q opens: :;T_L',’Jé/_}!f(y = x% — 9.7
Right side — 41 (D) Leftside =~ /1 (C) Downward 5 2 £ (B) Upward 52 4 (A)
8. y=5%is ...... function: e JU....y=5" .8
Exponential $1 =+ (D) Cubic $.»2— (C) Quadratic 5.2+ (B) Linear G (A)
9. Reciprocal function is: « JEU™ 9
y=5X3 (D) y=2X2 (C) y= E (B) }f:?x (A)
X
10. y = —3x3 + 7 is ... function: efb...y=—=3x°+7 10
Reciprocal #* (D) Linear $..2£ (C) Cubic &2 - (B) Exponential (¢ =7 (A)
Q2. Write short answers of the following questions. 2X10=20 b LF e AL e 2142 Ay
| . Plot the graph of the following function: j, = 4 y =4* Lo K65t . |
II'. Plot the graph of the following function: 1y = 5~ y=5% L eSSt
Il . | | 1 G W Al
Plot the graph of the following function: y = 3 X#F3 y= —3 X # 3:JtJ/E J‘Lirl_,,-t il
Do X—
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V. 2 ., G AV
Plot the graph of the following function: yy = g +3, x#0 y=—+3, x#0: I/ B PED
X X
1 LA A
v Plot the graph of the following function: 5 eV (1 Jo S5t v
y=X y=X
VI . Sketch the graph of: yy = 2 x — 1 | fL'«,_E!ny=2x—1 . Vi
VIl . Sketch the graph of yy = 2x2 —7x —9Q for -3 < x < 6- -u_’_’i'f._iu?yz Ix% —Tx—9oL—-3<x<6 .V
VIIl . Plot the graph of: yy = x3 for -3 < x < 3. i fh..ilﬁ’y =x3L L -3<x<3.V
X . Acompany manufactures school bags. The function of producing x bagsis ~ (§ X! ,:-_C(x):12[][]+800;{._-;fu‘{ 2 Lg,@x_.:;J Lg:_@,ﬁgf )
C(x)= 1200 + 800x and the revenue from selling x bags is R(x)=50x. Find & frr"h" i e r_R(x)=50x;} Fibis P lecsl
the break-even point. “ '

X . Plot the graph of the following for x from -5 t0 5: y = 15 — x2 y=15- 2L ¥ Sstnd ExF5 5 . X
Q3. Write detailed answers of the following questions. 5X2=10 SIS F Mt Lol f5.0000 3 7 iy
1. The population of a village was 753 in 2010. If the population grows Gl p= 75339-U3f;,r,-p yind T53L5;|,T'J Js€L142010 .1
according to the equation = 753e0:03t, where p is the number of 2 Lt:3[](in2[]4[]);_t:[](in2[]10),:_;:;:3‘_,( sl }iuﬁ:.?;tufd;gfpugq;,f_
person in the population at time t. Graph the population equation for t=0 (in Lo Sl ST
2010) to t = 30 (in 2040) a '

2. Sales of a new magazine are expected to grow according to the equation: 8=200000: W2 5L e/ Bl 2 s Less f Ll ki 2
$=200000 (1 — ¢ —D.Dﬁf), where tis given in weeks. Calculate the o/ )’l -2t o j,:ib( U sd_nessf e VUt utul (1 —e —G.DSf)

number of magazines sold, when t=5 and t=35. _xt=35.t=5_2
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